MARCINKIEWICZ-TYPE LAW OF LARGE NUMBERS FOR DOUBLE ARRAYS

Dug Hun Hong and Andrei I. Volodin

ABSTRACT. Chatterji strengthened version of a theorem for martingales which is a generalization of a theorem of Marcinkiewicz proving that if X_n is a sequence of independent, identically distributed random variables with $E|X_n|^p < \infty, 0 < p < 2$ and $EX_1 = 0$ if $1 \le p < 2$ then $n^{-1/p} \sum_{i=1}^n X_i \to 0$ a.s. and in L^p . In this paper, we prove a version of law of large numbers for double arrays. If $\{X_{ij}\}$ is a double sequence of random variables with $E|X_{11}|^p \log^+|X_{11}|^p < \infty, 0 < p < 2$, then $\lim_{m \vee n \to \infty} \frac{\sum_{i=1}^n \sum_{j=1}^n (X_{ij} - a_{ij})}{(mn)^{\frac{1}{p}}} = 0$ a.s. and in L^p , where $a_{ij} = 0$ if $0 , and <math>a_{ij} = E[X_{ij}|\mathcal{F}_{ij}]$ if $1 \le p \le 2$, which is a generalization of Etemadi's Marcinkiewicz-type SLLN for double arrays. This also generalize earlier results of Smythe, and Gut for double arrays of i.i.d. r.v's.

Let N denote the set of positive integer. And we note \prec the lexicographic order on $N \times N$, i.e., $(i,j) \prec (k,l)$ if and only if either i < k or i = k and j < l. And let \mathcal{F}_{ij} be the σ -field generated by the family of random variables $\{X_{kl} | (k,l) \prec (i,j)\}$.

To prove the main theorem, we need the following lemma.

LEMMA. Let $\{X_{ij}\}$ be a double sequence of random variables with $E[X_{ij}|\mathcal{F}_{ij}] = 0$. Given any $\epsilon > 0$, we have

(1)
$$P\left\{\max_{\substack{1 \le i \le m \\ 1 \le j \le n}} \left| \sum_{k=1}^{i} \sum_{l=1}^{j} X_{kl} \right| > \epsilon \right\} \le \frac{4}{\epsilon^2} \sum_{i=1}^{m} \sum_{j=1}^{n} E X_{ij}^2.$$

Received March 13, 1999.

¹⁹⁹¹ Mathematics Subject Classification: 60G50, 60F15.

Key words and phrases: strong law of large numbers, double arrays, L^p convergence.

Proof. Let $S_{mn} = \sum_{i=1}^{m} \sum_{j=1}^{n} X_{ij}$. And let $Y_j = \max\{|S_{ij}| : i = 1, \dots, m\}$, for each $j = 1, \dots, n$. If σ_l is a σ -field generated by $\{X_{ij} | 1 \le i \le m, 1 \le j \le l\}$,

$$E[S_{kl}|\sigma_{l-1}] = E[S_{k,l-1} + X_{1l} + \dots + X_{kl}|\sigma_{l-1}]$$

$$= E[S_{k,l-1}|\sigma_{l-1}] + E[X_{1l}|\sigma_{l-1}] + \dots + E[X_{kl}|\sigma_{l-1}]$$

$$= S_{k(l-1)}.$$

Since $E[X_{il}|\sigma_{l-1}] = E[E[X_{il}|\mathcal{F}_{ml}]|\sigma_{l-1}] = 0$ by hypothesis, which implies that $\{S_{kl}, \sigma_l\}_{l=1}^n$ is a martingale. Hence $\{|S_{kl}|, \sigma_l\}_{l=1}^n$ is a submartingale for each $k = 1, \dots, m$, which follows that $\{Y_l^2, \sigma_l\}$ is a nonnegative submartingale. Applying Theorem 3.3.4 and Corollary 3.3.2 [8], we obtain the inequalities

$$P\left\{ \max_{\substack{1 \leq i \leq m \ 1 \leq j \leq n}} |S_{ij}| > \epsilon \right\} = P\left\{ \max_{1 \leq j \leq n} Y_j^2 > \epsilon^2 \right\}$$

$$\leq \frac{1}{\epsilon} E Y_n^2$$

$$\leq \frac{4}{\epsilon} \sum_{i=1}^m \sum_{j=1}^n E X_{ij}^2$$

which gives us the desired results.

THEOREM 1. Let $\{X_{ij}\}$ be a double sequence of random variables such that either $E|X|^p\log^+|X|^p<\infty,\ 0< p<2,\ p\neq 1$ and $P\{|X_{ij}|\geq x\}\leq P\{|X|\geq x\},\ 0\leq x<\infty$ or $E|X|\log^+|X|<\infty$ and $P(|X_{ij}|\geq x|\mathcal{F}_{ij})\leq P(|X|\geq x|\mathcal{F}_{ij})$ a.s. Then

(2)
$$\lim_{m \vee n \to \infty} \frac{\sum_{i=1}^{m} \sum_{j=1}^{n} (X_{ij} - a_{ij})}{m n^{\frac{1}{p}}} = 0 \quad a.s.$$

where $a_{ij} = 0$ if $0 , and <math>a_{ij} = E[X_{ij} | \mathcal{F}_{ij}]$ if $1 \le p \le 2$.

Proof. Let \mathcal{F} be the distribution function of X and let $X'_{ij} = X_{ij}I\{|X_{ij}| \leq (ij)^{\frac{1}{p}}\}$ with I the indicator function, $X''_{ij} = X_{ij} - X'_{ij}$, and let d_k be the number of divisors of k. Denote by $S_{mn} = \sum_{i=1}^m \sum_{j=1}^n X_{ij}$, $S'_{mn} = \sum_{i=1}^m \sum_{j=1}^n X'_{ij}$. By using the fact that $\sum_{k=1}^n d_k = O(n \log n)$, we obtain

the inequalities

$$\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} P\{X_{ij} \neq X'_{ij}\} \leq \sum_{k=1}^{\infty} d_k P\{|X| > k^{\frac{1}{p}}\}$$

$$= \sum_{i=1}^{\infty} \left(\sum_{k=1}^{i} d_k\right) \int_{i^{\frac{1}{p}}}^{(i+1)^{\frac{1}{p}}} dF(x)$$

$$\leq c \sum_{i=1}^{\infty} i \log i \int_{i^{\frac{1}{p}}}^{(i+1)^{\frac{1}{p}}} dF(x)$$

$$\leq c E|X|^p \log^+ |X|^p < \infty,$$

where c is an unimportant positive constant which is allowed to change. Hence by the Borel-Cantelli lemma

(4)
$$\frac{\sum_{i=1}^{m} \sum_{j=1}^{n} (X_{ij} - X'_{ij})}{(mn)^{\frac{1}{p}}} \Rightarrow 0 \quad \text{a.s.}$$

Since $I_d(\cdot) - E[\cdot|\mathcal{F}_{ij}]$ is a contraction on L^2 , we obtain

$$\sum_{k=1}^{\infty} \sum_{l=1}^{\infty} P\left\{ \left| \frac{\sum_{i=1}^{2^{k}} \sum_{j=1}^{2^{l}} (X'_{ij} - E[X'_{ij} | \mathcal{F}_{ij}])}{(2^{k}2^{l})^{\frac{1}{p}}} \right| > \epsilon \right\} \\
\leq c \sum_{k=1}^{\infty} \sum_{l=1}^{\infty} \frac{E(\sum_{i=1}^{2^{k}} \sum_{j=1}^{2^{l}} (X'_{ij} - E[X'_{ij} | \mathcal{F}_{ij}]))^{2}}{(2^{k}2^{l})^{\frac{2}{p}}} \\
= c \sum_{k=1}^{\infty} \sum_{l=1}^{\infty} \frac{\sum_{i=1}^{2^{k}} \sum_{j=1}^{2^{l}} E(X'_{ij} - E[X'_{ij} | \mathcal{F}_{ij}])^{2}}{(2^{k}2^{l})^{\frac{2}{p}}} \\
\leq c \sum_{k=1}^{\infty} \sum_{l=1}^{\infty} \frac{\sum_{i=1}^{2^{k}} \sum_{j=1}^{2^{l}} E(X'_{ij})^{2}}{(2^{k}2^{l})^{\frac{2}{p}}} \\
\leq c \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{E(X'_{ij})^{2}}{(ij)^{\frac{2}{p}}}.$$

If we use the fact that $\sum_{k=i+1}^{\infty} \frac{d_k}{k^{\frac{2}{p}}} = O(\frac{\log i}{(i+1)^{\frac{2}{p}-1}}),$

$$\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{E(X'_{ij})^{2}}{(ij)^{\frac{2}{p}}} \leq c \sum_{k=1}^{\infty} \frac{d_{k}}{k^{\frac{2}{p}}} \int_{0}^{k^{\frac{1}{p}}} x^{2} dF(x)$$

$$\leq c \sum_{i=0}^{\infty} \left(\sum_{k=i+1}^{\infty} \frac{d_{k}}{k^{\frac{2}{p}}} \right) \int_{i^{\frac{1}{p}}}^{(i+1)^{\frac{1}{p}}} x^{2} df(x)$$

$$\leq c \sum_{i=0}^{\infty} \frac{\log i}{(i+1)^{\frac{2}{p}-1}} \int_{i^{\frac{1}{p}}}^{(i+1)^{\frac{1}{p}}} x^{2} dF(x)$$

$$\leq c E|X|^{p} \log^{+}|X|^{p} < \infty,$$

which follows easily by summation by part. It follows that

(6)
$$\frac{\sum_{i=1}^{2^k} \sum_{j=1}^{2^l} (X'_{ij} - E[X'_{ij} | \mathcal{F}_{ij}])}{(2^k 2^l)^{\frac{1}{p}}} \to 0 \quad \text{a.s.}$$

And

$$egin{array}{lll} T_{kl} &=& \displaystyle \max_{rac{2^k \leq m < 2^{k+1}}{2^l \leq n < 2^{l-1}}} \left\| rac{S_{2^k 2^l}^*}{\left(2^k 2^l
ight)^{rac{1}{p}}} - rac{S_{mn}^*}{\left(mn
ight)^{rac{1}{p}}}
ight\| \ &\leq & rac{\left|S_{2^k 2^l}^*
ight|}{\left(2^k 2^l
ight)^{rac{1}{p}}} + \max_{rac{2^k \leq m < 2^{k+1}}{2^l \leq n < 2^{l+1}}} rac{\left|S_{mn}^*
ight|}{\left(mn
ight)^{rac{1}{p}}}, \end{array}$$

where $S_{mn}^* = \sum_{i=1}^m \sum_{j=1}^n (X'_{ij} - E[X'_{ij}|\mathcal{F}_{ij}])$. From Lemma we obtain, for any $\epsilon > 0$,

$$P\{|T_{kl}| > \epsilon\} \leq P\left\{\frac{|S_{2^{k}2^{l}}^{*}|}{(2^{k}2^{l})^{\frac{1}{p}}} > \frac{\epsilon}{2}\right\} + P\left\{\max_{\substack{2^{k} \le m < 2^{k-1} \\ 2^{l} \le n < 2^{l-1}}} \frac{|S_{mn}^{*}|}{(mn)^{\frac{1}{p}}} > \frac{\epsilon}{2}\right\}$$

$$(7) \qquad \leq P\left\{\frac{|S_{2^{k}2^{l}}^{*}|}{(2^{k}2^{l})^{\frac{1}{p}}} > \frac{\epsilon}{2}\right\} + \frac{16}{\epsilon^{2}} \sum_{i=1}^{2^{l-1}} \sum_{j=1}^{2^{l-1}} \frac{E|X'_{ij}|^{2}}{(2^{k}2^{l})^{\frac{2}{p}}}.$$

Since $\sum_{k=1}^{\infty} \sum_{l=1}^{\infty} P\{|T_{kl}| > \epsilon\} < \infty$ from the inequalities in (5), by Borel-Cantelli lemma, we obtain

(8)
$$T_{kl} \rightarrow 0$$
 a.s.

Hence (6) and (8) give us

(9)
$$\frac{\sum_{i=1}^{m} \sum_{j=1}^{n} (X'_{ij} - E[X'_{ij} | \mathcal{F}_{ij}])}{(mn)^{\frac{1}{p}}} \to 0 \quad \text{a.s.}$$

Combining (4) and (9), we get

(10)
$$\frac{\sum_{i=1}^{m} \sum_{j=1}^{n} (X_{ij} - E[X'_{ij}|\mathcal{F}_{ij}])}{(mn)^{\frac{1}{p}}} \to 0 \quad \text{a.s.}$$

Suppose that 1 . Since

$$\frac{\sum_{i=1}^{m} \sum_{j=1}^{n} (X_{ij} - E[X_{ij}|\mathcal{F}_{ij}])}{(mn)^{\frac{1}{p}}} = \frac{\sum_{i=1}^{m} \sum_{j=1}^{n} (X_{ij} - E[X'_{ij}|\mathcal{F}_{ij}])}{(mn)^{\frac{1}{p}}} - \frac{\sum_{i=1}^{m} \sum_{j=1}^{n} E[X''_{ij}|\mathcal{F}_{ij}]}{(mn)^{\frac{1}{p}}},$$

it remains to prove that the second term of right-hand side converges to 0. By Markov's inequality

$$\sum_{k=1}^{\infty} \sum_{l=1}^{\infty} P\left\{ \frac{\sum_{i=1}^{2^k} \sum_{j=1}^{2^l} E[|X_{ij}''| \mid \mathcal{F}_{ij}]}{(2^k 2^l)^{\frac{1}{p}}} > \epsilon \right\} \le \frac{1}{\epsilon} \sum_{k=1}^{\infty} \sum_{l=1}^{\infty} \frac{\sum_{i=1}^{2^k} \sum_{j=1}^{2^l} E|X_{ij}''|}{(2^k 2^l)^{\frac{1}{p}}}.$$

If we use the fact that $\sum_{k=1}^{n} \frac{d_k}{k^{\frac{1}{p}}} = O(n^{1-\frac{1}{p}} \log n)$, we obtain the following inequalities

$$\sum_{k=1}^{\infty} \sum_{l=1}^{\infty} \frac{\sum_{i=1}^{2^{l}} \sum_{j=1}^{2^{l}} E|X_{ij}''|}{(2^{k}2^{l})^{\frac{1}{p}}} \leq c \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{E|X_{ij}'|}{(ij)^{\frac{1}{p}}}$$

$$\leq c \sum_{k=1}^{\infty} \frac{d_{k}}{k^{\frac{1}{p}}} \int_{k^{\frac{1}{p}}}^{\infty} |x| dF(x)$$

$$= c \sum_{k=1}^{\infty} \left(\sum_{k=1}^{i} \frac{d_{k}}{k^{\frac{1}{p}}}\right) \int_{i^{\frac{1}{p}}}^{(i+1)^{\frac{1}{p}}} |x| dF(x)$$

$$\leq c \sum_{i=1}^{\infty} i^{1-\frac{1}{p}} \log i \int_{i^{\frac{1}{p}}}^{(i+1)^{\frac{1}{p}}} |x| dF(x)$$

$$\leq c \int_{1}^{\infty} |x|^{p} \log^{+} |x|^{p} dF(x)$$

$$\leq c E|X_{11}|^{p} \log^{+} |X_{11}|^{p} < \infty.$$

If follows that

(11)
$$\frac{\sum_{i=1}^{2^k} \sum_{j=1}^{2^l} E[|X_{ij}''||\mathcal{F}_{ij}]}{(2^k 2^l)^{\frac{1}{p}}} \to 0 \quad \text{a.s.}$$

But

$$T'_{kl} = \max_{\substack{2^{k} \leq m \leq 2^{k+1} \\ 2^{l} \leq n \leq 2^{l+1}}} \left| \frac{\sum_{i=1}^{m} \sum_{j=1}^{n} E[|X''_{ij}|| \mathcal{F}_{ij}]}{(mn)^{\frac{1}{p}}} - \frac{\sum_{i=1}^{2^{k}} \sum_{j=1}^{2^{l}} E[|X''_{ij}|| \mathcal{F}_{ij}]}{(2^{k}2^{l})^{\frac{1}{p}}} \right|$$

$$(12) \leq \frac{2^{\frac{2}{p}}}{(2^{k+1}2^{l+1})^{\frac{1}{p}}} \sum_{i=1}^{2^{k+1}} \sum_{j=1}^{2^{l+1}} E[|X''_{ij}|| \mathcal{F}_{ij}].$$

Since $\sum_{k=1}^{\infty} \sum_{l=1}^{\infty} E|T'_{kl}| < \infty, T'_{kl}$ converges to 0 which implies by (11)

$$\frac{\sum_{i=1}^{m} \sum_{j=1}^{n} E[|X_{ij}''| \mid \mathcal{F}_{ij}]}{(mn)^{\frac{1}{p}}} \to 0 \quad \text{ a.s.}$$

Therefore the equation (2) holds for $1 . For <math>0 , by using the fact that <math>\sum_{k=i+1}^{\infty} \frac{d_k}{k^{\frac{1}{p}}} = O\left(\frac{\log i}{(i+1)^{\frac{1}{p}-1}}\right)$, we can show that

$$\frac{\sum_{i=1}^{m}\sum_{j=1}^{n}E[|X'_{ij}|\|\mathcal{F}_{ij}]}{(mn)^{\frac{1}{p}}} \to 0 \quad \text{a.s.}$$

by the argument similar to the case 1 . Hence by (10)

$$\frac{\sum_{i=1}^m \sum_{j=1}^n X_{ij}}{(mn)^{\frac{1}{p}}} \to 0 \quad \text{ a.s.}$$

Now for p = 1, we note that

$$E[X_{ij}''|\mathcal{F}_{ij}] \le E[XI\{|X| > ij\}|\mathcal{F}_{ij}].$$

In the identity

$$(mn)^{-1} \sum_{i=1}^{m} \sum_{j=1}^{n} (X_{ij} - E[X_{ij}|\mathcal{F}_{ij}])$$

$$= (mn)^{-1} \sum_{i=1}^{m} \sum_{j=1}^{n} (X'_{ij} - E[X'_{ij}|\mathcal{F}_{ij}])$$

$$+ (mn)^{-1} \sum_{i=1}^{m} \sum_{j=1}^{n} [X''_{ij} + (E[X'_{ij}|\mathcal{F}_{ij}] - E[X_{ij}|\mathcal{F}^{ij})],$$

the first term on the right converges a.s. to 0 by (9). Since $(mn)^{-1}$ $\sum_{i=1}^{m} \sum_{j=1}^{n} X_{ij}'' \to 0$ a.s by (4), it will be enough to show that $(mn)^{-1}$ $\sum_{i=1}^{m} \sum_{j=1}^{n} (E[X'_{ij}|\mathcal{F}_{ij}] - E[X_{ij}|\mathcal{F}_{ij}]) \to 0$ a.s. We note that by the stronger hypothesis for p=1

$$|E[X'_{ij}|\mathcal{F}_{ij}] - E[X_{ij}|\mathcal{F}_{ij}]| \leq E[|X''_{ij}|\mathcal{F}_{ij}]$$

$$\leq 2E[|X|I\{|X| > ij\}|\mathcal{F}_{ij}].$$

And using the fact that $|X|I\{|X|>n+1\}<|X|I\{|X|>n\}$, we see that both $E[|X|I\{|X|>n\}|\mathcal{F}_{1n}], n=1,2\cdots$ and $E[|X|I\{|X|>n\}|\mathcal{F}_{1n}], n=1,2,\cdots$ are positive super-martingale. Since every positive super-martingale converges a.s., $\lim_{k\to\infty} E[|X|I\{|X|>k\}|\mathcal{F}_{1k}]=Y$ exist a.s. But $\int Y \leq \lim_{k\to\infty} E\{|X|I\{|X|>k\}=0$ so that Y being nonnegative must be zero a.s. and similarly $\lim_{k\to\infty} E[|X|I\{|X|>k\}|\mathcal{F}_{k1}]=0$ a.s.

Now, noting that

$$E[|X|I\{|X| > ij\}|\mathcal{F}_{ik}] \geq E[|X|I\{|X| > i(j+k)\}|\mathcal{F}_{i(j+k)}\}],$$

$$k = 0, 1, 2, \cdots,$$

$$E[|X|I\{|X| > ij\}|\mathcal{F}_{ik}] \geq E[|X|I\{|X| > (i+k)j\}|\mathcal{F}_{(i+k)j}\}],$$

$$k = 0, 1, 2, \cdots,$$

we have

$$\sum_{i=1}^{m} \sum_{j=1}^{n} E[|X_{ij}''| \mathcal{F}_{ij}]$$

$$\leq \min \left\{ m \sum_{j=1}^{n} E[|X|I\{|X| > j\}| \mathcal{F}_{1j}], n \sum_{j=1}^{m} E[|X|I\{|X| > i\}| \mathcal{F}_{i1}] \right\}.$$

If $m \vee n \to \infty$, then either $m \to \infty$ or $n \to \infty$. Without loss of generality we assume $n \to \infty$. Then

$$(mn)^{-1}\sum_{i=1}^m\sum_{j=1}^n E[|X_{ij}''|ig||\mathcal{F}_{ij}] \leq rac{1}{n}\sum_{i=1}^n E[|X|I\{|X|>i\}|\mathcal{F}_{1j}] o 0 \quad ext{ a.s.}$$

The theorem is thus completely proved.

THEOREM 2. Under the same conditions of Theorem 1, we also have L^p -convergence.

Proof. We first consider the case 1 . In the identity

$$\begin{split} &\frac{\sum_{i=1}^{m}\sum_{j=1}^{n}(X_{ij}-E[X_{ij}|\mathcal{F}_{ij}])}{(mn)^{\frac{1}{p}}}\\ &=\frac{\sum_{i=1}^{m}\sum_{j=1}^{n}(X_{ij}'-E[X_{ij}'|\mathcal{F}_{ij}])}{(mn)^{\frac{1}{p}}}+\frac{\sum_{i=1}^{m}\sum_{j=1}^{n}(X_{ij}''-E[X_{ij}''|\mathcal{F}_{ij}])}{(mn)^{\frac{1}{p}}}, \end{split}$$

the first term on the right hand side converges in L^p . For

$$\sum_{k=1}^{\infty} \sum_{l=1}^{\infty} \frac{E\left(\sum_{i=1}^{2^{k}} \sum_{j=1}^{2^{l}} (X'_{ij} - E[X'_{ij} | \mathcal{F}_{ij}])\right)^{2}}{(2^{k} 2^{l})^{\frac{2}{p}}}$$

$$\leq \sum_{k=1}^{\infty} \sum_{l=1}^{\infty} \sum_{i=1}^{\infty} \frac{\sum_{i=1}^{2^{k}} \sum_{j=1}^{2^{l}} E(X'_{ij})^{2}}{(2^{k} 2^{l})^{\frac{2}{p}}} < \infty \quad \text{by (5)},$$

which implies $\frac{\sum_{i=1}^{2^k}\sum_{j=1}^{2^l}(X'_{ij}-E[X'_{ij}|\mathcal{F}_{ij}])}{(2^k2^l)} \to 0$ in L^2 and

$$egin{array}{lll} T'_{kl} &=& \displaystyle\max_{2^k \leq m \leq 2^{k+1} top 2^{l+1} top 2^{l+1} \leq m \leq 2^{l+1}} \left| rac{\sum_{i=1}^m \sum_{j=1}^n E(X'_{ij})^2}{(mn)^{rac{2}{p}}} - rac{\sum_{i=1}^{2^k} \sum_{j=1}^{2^l} E(X'_{ij})^2}{(2^k 2^l)^{rac{2}{p}}}
ight| \ &\leq & 4^{rac{2}{p}} rac{\sum_{i=1}^{2^{k+1}} \sum_{j=1}^{2^{l+1}} E(X'_{ij})^2}{(2^{k+1} 2^{l+1})^{rac{2}{p}}}
ightarrow 0 \end{array}$$

by (5) again, which implies the first term converges to 0 in L^2 and hence in L^p . For the second term,

$$\frac{\sum_{i=1}^{m} \sum_{j=1}^{n} E|X_{ij}'' - E[X_{ij}''|\mathcal{F}_{ij}]|^{p}}{mn} \leq \frac{\alpha}{mn} \sum_{i=1}^{m} \sum_{j=1}^{n} E|X_{ij}''|^{p}}$$

$$\leq \frac{\alpha}{mn} m \sum_{j=1}^{n} E|X_{1j}''|^{p}$$

$$= \frac{\alpha}{n} \sum_{j=1}^{n} E|X_{1j}''|^{p} \to 0 \quad \text{as } n \to \infty,$$

where the first inequality comes from Essen-Von Bahr inequality. Consider now the case 0 and note that

$$\frac{\sum_{i=1}^{m}\sum_{j=1}^{n}E|X_{ij}|}{(mn)^{\frac{1}{p}}} \leq \frac{\sum_{i=1}^{m}\sum_{j=1}^{n}E|X'_{ij}|}{(mn)^{\frac{1}{p}}} + \frac{\sum_{i=1}^{m}\sum_{j=1}^{n}E|X''_{ij}|}{(mn)^{\frac{2}{p}}}.$$

We already show that in the processes of the proof of Theorem 1 that the two terms on the right hand side converges 0.

The proof for p = 1 is as before except for one small detail. In the identity

$$\frac{\sum_{i=1}^{m} \sum_{j=1}^{n} (X_{ij} - E[X_{ij} | \mathcal{F}_{ij}])}{(mn)} \\
= \frac{\sum_{i=1}^{m} \sum_{j=1}^{n} (X'_{ij} - E[X'_{ij} | \mathcal{F}_{ij}])}{mn} + \frac{\sum_{i=1}^{m} \sum_{j=1}^{n} (X''_{ij} - E[X''_{ij} | \mathcal{F}_{ij}])}{(mn)}$$

the first term on the right converges in L^2 to 0 as before and the second converges to 0 in L^1 . Since

$$E\left|\frac{\sum_{i=1}^{m}\sum_{j=1}^{n}(X_{ij}'' - E[X_{ij}''|\mathcal{F}_{ij}])}{mn}\right| \leq \frac{\sum_{i=1}^{m}\sum_{j=1}^{n}E|X_{ij}'' - E[X_{ij}''|\mathcal{F}_{ij}]|}{(mn)}$$

$$\leq \frac{2\sum_{i=1}^{m}\sum_{j=1}^{n}E|X_{ij}''|}{(mn)}$$

$$\leq \frac{2m\sum_{j=1}^{n}E|X_{1j}''|}{(mn)}$$

$$= \frac{2}{n}\sum_{j=1}^{n}E|X_{1j}''|,$$

and the last term goes to 0 as $n \to \infty$, by the fact that $E|X_{1j}| \to 0$ as $j \to \infty$. The theorem is thus completed.

REMARK 1. The generalization to r dimensional array of random variables can be obtained under the condition

$$E|X|^p(\log^+|X|^p)^{(r-1)} < \infty$$
, for $0 .$

References

- Chatterji, S. D., An L^p-convergence theorem, Ann. of Math. Statist. 40 (1968), 1068-1070.
- [2] Chung, K. L., A course in probability theory, 2nd ed., New York-London Academic Press, 1974.
- [3] Esseen, C. and Von Bahr, B., Inequalities for the rth absolute moment of a sum of random variables, $1 \le r \le 2$, Ann. Math. Statist. 36 (1965), 299-303.
- [4] Etemadi, N., An elementary proof of the strong law of large numbers, Z. Wahrsch. Verw. Gebiete 55 (1981), 119-122.
- [5] Gut, A., Marcinkiewicz laws and convergence rate in the law of large numbers for random variables with multidimensional indices, Ann. of Probab. 3 (1978), 469-482.
- [6] Hardy, G. H. and Wright, E. M., An introduction to the theory of numbers, 4th ed., Oxford Clarendon, 1960.
- [7] Smythe. R. T., Strong laws of large numbers for r-dimensional arrays of random variables, Ann. of Probab. 1 (1973), 164-170.
- [8] Stout, W. F., Almost sure convergence, New York-London: Academic Press, 1974.

Dug Hun Hong School of Mechanical and Automotive Engineering Catholic University of Taegu-Hyosung Kyungbuk 712 - 702, Korea E-mail: dhhong@cuth.cataegu.ac.kr

Andrei I. Volodin
Research Institute of Mathematics and Mechanics
Kazan State University
Kazan 420008, Tatarstan, Russia
E-mail: volodin@math.uregina.ca